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I Semester B.Com. Degree Examination, Nov./Dec. - 2019

KANNADA BASIC
(Regular)
&3, FOTI - 1

Time : 3 Hours
Instructions to Candidates:

Pl
.

POR TONR WO magﬁ MRS ERTBERTOR)T.

Maximum Marks : 80

LBERNED NOT BOBSOD RO, TTOD LD FRSILRATA S 03 BARBROS ? 2323F 0.

(15)
(0F=9)
SSBRO B,TREANT T WA 38 ‘DQomdee osHmd’ -Fagedg, Sen
238,3RP0BT ? DF[ORD.
2. BN SR0UTE TN FOH0D FROF, D 0IRY) ? WWFAD. (15)

(o7@0)

TOPMOTT HASTE ITHD TOST wdﬁa& AT’ 330G, BeTTRTO OTITES TeEr
ad_ramw%d 9 DTOD.
3. Wesow meﬁ b3c."i£‘§ 230200.

a)
o
©)
-
€)
f)

5Z0T0% J0e

QT F 3T

2308, .

T0BT DA

9. To%BIWR0

rOTO-dF T - od - §IEnd

4. BT aﬁo.radli NOTPFBRTS AATOAD.

a)
b)
c)
d)
€)

. ‘923073020 BRE3BRTN DWW STV WOONA'
g e P

BROS B, B8 I J:Y0S

ATOF T3 THETRRY, IREPRNTITY,

£53300 ROTHRAT WIIOD &, €803, FOR F IR0
‘D0 AR AR TEOD, FOT*!

(20)

1s)

P.T.O.
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5. %0ue TETO euZdAD. (15)
2) PR, ATRSE ST, BRTNTI ? :
b) 33bTo¥ 30e5T 'égsm’dﬁem% TR WL, CORRPAT MPCIT 030930 ?

c) ‘HoNTIBIONTS BT CIRT T, T ?

d)  ®0.T0. cRBYOR ©H[A IR )8 CDATTO ?

e) BTTT TR0 W0 a‘aé,s.%do 03RO ?

f) TeDS 2’ IVIVI), 03RS Fo3USDOR SCIERTCINT 2
9 I koD T nT, 33 SBR[ ?

h) 30805 SBTI) ‘0VNE TR KRG D' DO FTHRTIT ?
) wER$ @z:ouaoda:% WOTRTIT 2

) TREB YE,08mE tscﬁoz,dﬁrao@c&:@ QODVOT ?

k) 3T WS00NE T,838" 20w BITITHTO 03RO ?

D e30mT woRE TWEE SeTTO SR ?

m)  TOTI-SF TR LoD ENER - B, WOFITY, CIRT FOTOTROT SCINBRYTING ?
n)  Je0e30n, BT CIRT VTIEFTTNTIT ?

0) ‘&3 oW - 1’ T IS T, 5o FOTITIL BRTD ?




A0 0 0 - 36112/A120

Reg. No.

I Semester B.Com. Dégree Examination, Nov./Dec. - 2019
BASIC ENGLISH
(English Pearls)

(Regular) (New)

Time : 3 Hours Maximum Marks : 80
L. Answer the following questions in a word, a phrase or a sentence each : (10x1=10)

1. What has Bhutan adopted in the place of GDP?

2.  Who started the scientific revolution in the South and West Asia?

3. Who was at the acme of bliss in the opera?

4.  Who is the author of fhe lesson “Commerce”?

S.  Name the little girl in the story “The Man of The House™.

6.  Where does man find real joy and beauty according to W.H. Davies?

7.  Who has turned to stone at Jejuri?

8.  Whoisablue frocked woman in the poem “Punishment in the Kindergarten™?

9.  Where does the poet see the trees in Bombay?

10. How is the tree growing according to the poet?

Il.  Explain the following with reference to the context choosing one each from prose and poetry.

(2x5=10)
“Pardon, your excellency, I spattered you accidently”. |
“I will stop at home from school and look after you™.
“There is no crop other than God and God is harvested here.

“Trees are sacred, Felling them is a crime”.

P.T.O.
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M. a) How ecoﬁonﬁc growth has become anti - life? Explain. (10)
(OR)
b)  Whatis the theme of the; story “The Man in The House™? Explain.

IV. a) Describe the painful incident, the child experienced in the poem “Punishment in
Kindergarten™. (10)

(OR)
b)  Critically appreciate the poem “The Felling of the Banyan Tree™.

V.  Write short notes on any two of the following choosing one from prose and one from poetry.

(2%5=10)
1.  Globalizationand Internatiohalism.
2. IvanDmitrich Tcherviakov
3.  Jejur
4.  Importance of Nature depicted in the poem “Leisure”.
VI. A) Fillinthe blanks with appropriate articles and prepositions. : (5%1=5)
L. Heis MLA
2. Shegoestotemplein morning.
3.  Thechiefminister lives Bangaluru.
4. Themanjumped theriver.
5. Tusuallygothemarket  monday.
B) Rewriteasdirected: (5x1=5)
1.  Heistoo tall to stand up in the bus. (Remove too........... to). '

2. Assoon as the teacher entered the class, the students stood up (Use No sooner ......than).
3.  What acatch it is! (Change into Assertive).
4.  Ifyoudo not work hard, you will not pass the exam. (Use “Unless™).

5.  Noother metal is as valuable as gold. (Change into superlative).




RC AR A 0 3) 36112/A120

VII. a)

b)

c)

d)

Prepare a draft copy of the introduction of the chief guest of Annual day celebration of your

college. (5)
As a General Secretary of your college, draft a copy of welcome speech of Inaugural day
function. (3)
Expand any one of the following proverbs into a paragraph. (5)

1. All that glitters is not gold
2. Where there is a will, there is away.
Prepare an imaginary dialogue between a shopkeeper and a customer. (5)
1. Shop keeper : What do you want?
Customer :
Shop keeper :

2

3

4.  Customer:
5 Shop keeper :
6

Customer :
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I Semester B.Com./B.B.A. Degree Examination, Nov./Dec. - 2019
HINDI BASIC
(Regular)
(?) ™ wfy, afce e () JgEE
Time : 3 Hours Maximum Marks : 80
t. Tl @@ uwl & swm R | 1x 10 =10
¢. ‘SEd @ fAmd W R o?
(2) ¥ () S Toig T6R (3) T
. ‘e AR @ T 2 2
(?) 38 () WA (3) W
3. TERE adl @ W e gall ?
(8) 2¢3% (R) 230R (3) %R0%
¥, T % 992 o & AW A1 ?
(3) umE (3) emn (3) @
b, WY SHIGH H AH HE gIAT ?
(2) 220% (R) %%0R (3) %308
& = U A wwgw Fgd gw foRew @ @ @t 2 2
() ® WRA () WNE FA (3) AR M TN
v. ‘UUEY SUF YWl IW W WH T goll ?
(8) wowa (3) SR (3) g
(. TRETATA Wgadl @1 A W OO0 USWshW H g ?

(3) T W& ¥ AR FH () TG W SAEA 9 (3) 99 F R
[PT.O.




36116/A160/37116 @ IIIIIIllIlIIIllIlIIIII"IIIIIIIIIIIIIIIII]III]IIl|||I||IIIIIIIIIIIIIIIIHIIII L

R. UGl WgHdl @ W Wd gol ?
(?) 2eco () 2ee” (3) 3¢k
0. ‘@l W W TEw I @m 2 2
(2) fami= () Few (3) wee
¢e. Toey w1 S w9 gam ?
(8) 208 (3) 23%0 (3) %922
2. W % el UM % GE® & @ 7
(3) TR T () I (3) FHAVR
?3. #Hfm gfm e TwER @ Rudie @ w0 %7 W gEEl s oo 2
(2) wadiEeEs () wdlaea (3) =9 wEe
%%, UHEq W W gol ?
(2) w@ma () seiEER (3) SRR

. B @ & wwim =mem @fm 2x5=10
f. g9 304 UP-U Wen N B - T T N a8 ue e |
2. IR wdiga Tl g T i el = eewen = = v =@ =, W1 vl
4 3w | | :
3. TN GUR W GieW well iR Tild W oW WiRd i wEndea @
e @ AR WM W AEeR R aeleR % e anaew |

X. WA 2, mmm%@mﬁaﬁ§la}m@ﬁ§mm%
fere Zneive wem 2, e |

3. Td @ wl & sw &R | 2 x 10 = 20
g, TEiE H T TN YR A4 U Sied JWEl Wi oI T @ | wiE ik ?
2. T T H wgEEa S Evm, s e dimn & weh wdew = = e
2 | wE difw 2
3. ﬁmﬁmmﬁ;m%mmﬁmﬁﬁq?

. W@ e AE TEE 9O % UR W woeewl HEMIR S G At ?
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¥. 5@t @ m Runfi fefem 2x5=10
2. e |
. W 3R =W
3 AR WA A WiE W
¥, e
4. fd 3 Rwm W v TR | 2 x10 =20
7. % U T Eied 3g a% I YENs W U feiRag |
3. W ymwe favEm § gEel G gE UW W 3 TEhE @ uR faRau |
3. = en 3@ 9% | w0 yW FR [ 9% wrEn vEEE W un fakau |
¥. fawme sogiien @ ww g A 98 fit D w3 seEns w oo faian |
£ 9 # sgag Hifkw | 1x10 =10

There are three things which are hecessary for our body. Out of them first is air,
second is water and food comes next. Among them air is very important. But now-
a-days even to get it we have to pay money.

Sy 3008 LiE0 TRt ATTHT GEZTENCS. PN SrtuSedmd MY, 8RS
Qe Tone FRCTDE BT, WPNYY, o9 wes =), Sud S DINYY, VB
T@Eobew AD B SCWETNG.
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I Semester B.Com2/B.Com3 Degree Examination, Nov./Dec. - 2019
Financial Accounting-I
(Regular And Repeaters)

Paper - 1
Time : 3 Hours . : Maximum Marks : 80
Instructions to Candidates:
1) Attempt all sections according to internal choice.
©0B08 S0 FHTT DY, MPNNTSY LUFORD.
2) Use of simple non-programmable calculator is allowed.

0¥ TR BocdReITANRE REBEREY, HVEOdRNTWED.
3) = Section-D (Case Study) is compulsory.
NN - B FFOR G008 F@OD.
SECTION-A

TN - &
1.  Answerany Ten of the following. (1 OX2=26)
e TIF QBORO.
a)  Whatisstatement of affairs ?
B, TBT T, OB ?
b)  Why total creditors account is prépared 2 7
2830, FONT A5ICHT), ¥ SCIRVIIZT ?
¢)  Givethe meaning of profession.
TRWOND BB TRED.
d)  Whatis mercantile system of accounting ?
EFo e Trah SUHE I 0w ?
e)  Whatis farm accounting ? .
B A8 DOTTESD ?
f) What is royalty ?
ORI TS QOTTE 2
P.T.O.
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g)  Whatare exchanged transaction ?
QVTOD T, TITITNFOTTED 2
h)  Whatare departmental account ?
QRNNG 3398 0TTEID 2
i)  Howdo you treat inter departmental transfer of goods ?
$080 QWaNeodd FTBONG ﬁmFﬁﬁwoﬁ% TETT TONEIROND ?
) Whatis minimum rent ?
TOF, WRN NOWTER. ?
k)  State two demerits of single entry system.
DTSRRI THSOD TR LTIITROSNTRY, S9RD.
I)  Write two objectives of farm accounting.
A 309300 AT YLTEBNTRY 2TOWD.
SECTION-B
N - W
Answer any Three of the following. (3%x5=15)
65T [RTF GUZORD.
2. Ascertain the total sales from the following.

Rupees
Total debtors as on 01/04/2018 18,000
Total debtors as on 31/3/2019 17,000
Cash received from debtors 80,000
Bills receivable received from debtors 10,000
Discount allowed 1.000
Sales return 2.000
Cash Sales 20,000

Bad debts 1.000
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BINT TRWECWOT ), S35,000T2, TOTORECWD.

aR.
POMTTY 00T 01/04/2018 18,000
TONTTY Q0T 31/3/2019 17,000
AOTTO0T TRE Bed 80.000
aco‘:viii &bo@mﬂa‘% wdmﬁmo@a‘% 10,000
TOOMITON AReR QBT 1,000
FOOMTO0T WITY LI0OT ATFINGD 2.000
SR SRoees 20,000
FOWO OO : 1,000

Explain the basis of allocation of common expenses to various departments.

AT, 32{ W), OIS HTR0R 068 ARG NRPNNGT BOWND.
Apoorva Company Ltd. took a mine for lease from Bhoomi at a royality of Rs.2/- per ton the
minimum rent was agreed for Rs.10,000 per year with a right to recover the short workings in the next

two years.

Year Output in Tons
2015 2,000
2016 4,500
2017 9.000
2018 10.000
Prepare royalty chart.

- STPBE 30.0. BB G 9. BRT IFWT T, BRI de. 2 003 TORRFESEOS recs
TEROT. a’a?-; RN dr. 10, 000 ROT quw“DﬁcS éradé m:awm :mo&ﬁ RO
RA@FNTE) TRRO airawaejaas w wcé’ﬁcﬁ

P.T.O.
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TR B TI(BZYNTY)
2015 2,000
2016 4,500
2017 9,000
2018 10,000

TOBAHS TICITY S037P0A0D.

=

) Openingstock a)Rice

b) Seeds

c) Fertilizers
il) Closing Stock a)Rice

b) Seeds

c) Fertilizers
i) Purchases a) Seeds

b) Fertilizers
iv). Wages a) In cash

b) In kind (Rice)
v) SaleofRice
vi) Rice consumed by properietor
vii) Rice destroyed by Rodénts

viii) Depreciation on farm equipments

FINST DRLECVOT WIS méo‘b&gl 2

) ©00RT W a) &
b) weenshd

¢) fePwo

C)

Prepare crop account from the following information.

Rs,
1,00,000
20,000
30,000
1,80.000
15,000
20,000
12,000
18,000

1,20,000

80,000
8,00,000
48,000
24,000
20,000

u; DRD.

'

oR.
1,00,000
20,000
30,000

U0V A
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i) @30 a) &g - 1.80,000
b) Wexnsd - 15,000
c) ’ew3 - 20,000
iii) oed a) Wexnd . = 12,000
b) Rews - 18,000
iv) 2pdnsd a) INT TRBTY, - 1,20.000
b) Rowrte dewng, (vs) - 80.000
V) ©30d Inoets : - 8,00,000
Vi) FoeE SROBR WHAT &3 - 48,000
Vil) BTENPOT FTT &t ' - 24,000
Viil) 3, VBTN SBoeeS BIFR - 20,000

6.  Dr. Kaveri a medical practioner, has a supplied you the following information. You are required to
prepare income and expenditure account for the year ending 31-3-2019

i) Medical fees earned Rs.2,50,000

ii))  Received interest on investment Rs.10.000

iii)  Consultation fees Rs.25,000

iv)  Car expenses Rs.l0,000 (50% for profession)

v)  Staff salary paid Rs.35,000

vi)  Food supplied to (a) Patients - Rs.20,000 (b) Family Rs.10,000
vii) Electric charges for clinic Rs.5,000

viii) Rent paid Rs.15,000 (ixicludes house rent Rs.5.000)

0. o0 Q0T 31-3-2019 He w:iré éfaﬁﬁm@mo? B3 IPNS wsaaoéobma
ucﬁfmmd €5230 wsodo (SpiA] aboo '?50 afoecwm S0302020.

i) 82 de. 2,50,000
ii) & Ens TeATD Boed W& WoRR) Tr. 10,000
iii) SoeBF ) TR. 25,000

iv) @WomS ﬁzgdm 10,000 (50% 3,81
P.T.O.
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V) Aw0B Fowd éraegp% aR. 35,000

V) STHo0 B0wF efm@d% (a) TreNTPR dw. 20,000  (b) BOEDOWT de. 10,000
vil) §R5° Q)3 e, de. 5,000 ‘

Viii)2&R7 FRET) drR. 15,000 (STTY,TR. 5,000 35 T e0m.)

SECTION-C

QYN - T
Answer any Two ofthe following. . . (2x15=30)
Weon Q0BE GVZOR0. A

7. Shri Shiva of Chikodi a merchant who keeps books under single entry system. He gives you the
following information relating to the year 2018-19.

- Particulars Ason 1/4/2018 Ason31/3/2019
Rs. Rs.
Cash - 1,000 1,200
Stock | 20,000 19,500
Debtors - 15,000 16,000
Machinery 40,000 41,000
Creditors” 20,000 18,500
Receipt and Payment Account
Receipts Rs.  Payments Rs.
Balanced b/d 1,000 Creditors: 35,000
Cash sales ' 8,200  Purchase of machinery ‘_LSEQ
Debtors 76,500  Wages 15,100
Sale of old newspaper 300 Salary 11.200
6% loan from Pooja on 1/1/2019 6,000  Building 20.000
Drawings 8.500
Balance ¢/d 1.200
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Adjustments:

i)  Bad debts to be written off were Rs.1,000

ii)  Outstanding sundry amounted to Rs.800

36121/A210

ii)  Provide depreciation on machinery at 15%. New machinery was purchased on 01/10/2018

Prepare Trading and Profit and Loss Account for the year ending 31/3/2019 and balance sheet as

on that date.

HERLROD 253 WD Ly, TFHOCIRNG, I WHEAIRY 0¥ AT FFSDE,

QE3TOZT. 2018-19 e a&:is-é ROLORRIT FENT m&aér{%ﬁa& udﬁ%m@d.

o] 1/4/2018
oR.
[N 1,000
OB éebt; 20,000

. FROMITT 15,000
0308, : 40,000
AOBITITTO 20,000

05eD még Towme 8393

T&ened - Rs.
e80T éooé 1,000
DN WS 8.200
EplSTanlefeb) . 76,500
THOD OIH INY Iwoees 300

TPLID BTWO0T A 6% on 1/1/2019 6,000

TowSneh
AOMDOON
O0E, DBED
2RO
weS3
TEIBNSD

el
203 WIBN
&
L0830 éwﬁ

31/3/2019

oR.
1,200
19,500
16,000
41,000
18,500

35,000
1,000
15,100
11,200
20,000
8,500
1,200
92.000

P.T.O.
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BROTIEITNLD :

)  DRFT SR TTUETIT FORE TONSO TR.
ii) 2398 BTN HeS Te. 800

iii)

1,000

O

03008,T3 30eeS 15% TR 738 Srico0d. B 003, 01/10/2018 BT DOERAT.

31/3/2019 Se IRFT IRBRRWETOL 53,3000 B ToYF TN TR 25BN, FOIROR. BT
DT LTS B, FoDT), SCIR0OAD.

the year ending 31/3/2019.

Particulars DeptA
Rs.

Opening stock 40,000

Purchases 4’6,9-990

Wages 10,000

Sales 2,00.000

Office salaries -

Office rent -

Discount allowed =k

Dept B
Rs.
30,000
0000
6,000
1.00,000

From the following information prepare the departmental trading and profit and loss account for

Total
Rs.
70,000
1,50.000
16,000
3,00,000
1,20,000
64,000
6,000

3,000

Depreciation on furniture worth Rs.30,000 at 10% and machinery worth rupees 1,40.000 at 5%

Discount earned --
Other Infonﬁation:
a) Stock on 31/3/2019 A - Rs.80,000 B - 40,000
b)
to be distributed equally between the two departments.
¢)  Areaoccupied A-200 sq.ft B - 120 sq.ft.
d)  Office staff appointed A-20.Men B -10 Men
e)

Inter departmental transaction Rs.15,000 from A to B is not included in the above transactions
- and should be excluded for calculation/f ratio.
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FINT TR&ECWOT Q. 31/3/2019 He da&rﬁé ﬁfaéﬁm%‘)ﬁoé. QIINEOD) sVTO B <o

B TR asaéodos% S03R00.

DT DeptA

an.
30023 éwﬁ 40,000
DOeR 1,00,000
3RO 10,000
ST 2,00,000
52300 Xows -
52300 &N -
ARe8 éraééd% 5
ARed Alalavy --
B30 IRLSTED: |

a) AOD é@% 8. 31/3/2019 A : 80,000 B - 40,000

b)  Tw.30.000 BScd LedremEdeans e 10% Sad

Dept B
an.
30,000
50,000
6,000
1,00,000

ed

Total
.
70,000
1,50,000

16,000

3,00,000

1,20,000.

64,000
6,000
3,000

BR T. 1,40,000 B3680%0 odoos, 3

0eS 5% dﬁ%ﬁﬁﬁ@oﬁﬁ% Srio0. 33 ;'365%”0333% QTT YINMALT FRPTeoN F0230.

) SFHWIIY A-20023.08. B - 120 i3.98.

d) Horeod ARIOD Fe0F A -20 =TT B - 10 233

e) 03T DINeod W,[HIT et A QoB B 1 8R. 15,000 SMESE IRADD 003

B, DHITNLE ZedQ), Torn BT, T=Ree d§ THOBIEN TWONEIRLIDTRO.

Q

9.  Fromthe following Trial Balance and additional information Mallikarjun prepare the Crop A/c, Livestock
A/c and Profit and Loss Account for the year ending 31/3/2019 and the Balance Sheet as on that date:

Trial Balance as on 31/3/2019
Debit balances ; Rs. Credit balances
Opening Stock(1/4/18) Capital Account
Crop 35,000 Mortgage Loan

Rs.
4,50.000
1,00,000

P.T.O.
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Fertilizers 10,000 Loan from Bank 50,000
Cattle 30,000 Sundry Creditors 40,000
Cattle feed 20,000 95,000 Sales:
Purchases : Péddy 1,70,000
Seeds 8,000 Fruits 30,000
Fertilizers 2,000 Cattle 1,00,000
Cattle 55,000 Milk 60,000 3.60,000
Cattle feed 11,000 76,000
Crop expenses 20,000 -
Live stock expenses 21,000
Repairs & maintenance 15,000
Int. on mortgage loan 10,000
Bank interest 4.000
Cash in hand 16,000
Cash at bank 40,000
Sundry debtors 62,000
Machinery 80,000
Managef’s Salary 12,000
Salary to staff 36,000
Rent Paid 13.000
Land and Building 5.00,000
10.00.000 | 10.00.000
Additional information:

a)  Provide depreciation on Land and Building at 2% and machinery at 5%
b)  Rs.3.500 worth of farm produce was consumed by the live stock.

¢)  Manager’s Salary and Staff Salary are to be apportioned equally between crops and livestock
sections.

d) Stockason31/3/2019
Cattle - Rs.88.000
Cattle feed - Rs.9,000

Seeds - Rs.2,000
Fertilizers-Rs.1,000




A OO0 0 0

B 23, em
SO0 3 (1/4/18)
a’gjcb
IaToINle)

(Al
(ADINBERDIEH)
VROTIT 5520
008 ;

e

WTOT0 S0
o0,
BOT|ITNE =3,

0360 T TR

Sevuiex moz e wg

23,083 wE

§ 00y

e, o éo%
OMTT
C0Z,MEd

N DIT Fows
AR00 Towe
WA

R0 THE

% FINS DTOAEROR =
31/3/2019 =3¢ dzo0z

oR.

35,000

10,000
30,000
20,000

8,000
2,000
55,000
11,000

(11)

95,000

76,000
20.000
21,000
15,000
10,000
4,000
16.000
40,000
62,000
80,000
12,000
36,000
13,000
5,00,000

10.00.000

&
T BEeS B

T x
5,383° 030, 0

LOBSY 3503

Snturtes me

1,70,000 .

30.000
1,00.000

60.000
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D w2 mmmdmf 398 mw oz T
UO;)J&JGi evCiJ“ONC)

TR.
4,50.000
1.00.000

50,000
40,000

3.60.000

10.00.000

P.T.O.
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é?{@’ QRWOND :
a) RN B FWRNY doeeS 2% TR 3023 00003, ne Foedd 5% o), ATTPODRY Bricwd.
b) =TT 0, evmedeeNac) de. 3,500
€) WFHTT WOWS T AW OB FOLE 00 Y WIRTITNYEA F0ToN T0230.
d) TRFDERIOD de), 31/3/2019
V=T TR. 88,000
2OROWITNY &0 TR. 9,000
Ve oR. 2,000 7
nRWT 8w. 1,000

10.  Dr. Vinayak provides following particulars, prepare the income and expenditure account of
profession and receipt and expenditure account of household for the year ending 31/3/2019.

Receipts and payments account for the year ending 31/3/2019.

Receipt Rs. Pavments Rs.
Cash in hand 3,000 Rent 36,000
Cash in bank 90,000 Medicines purchased 1,50,000
Consultation fees _ 1,50,000 Car expenses 12.000
Medicines sold 2,40.000 Telephone charges 6,000
Interest on pvt investment 12,000 Salaries and wages 36,000
Life insurance premium 21,600
Household marketing 30,000
Guest Entertainment 15,000
Misc. house expenses 30,000
Purchase of T.V. set 36,000
Cash in hand 20,400
Cash at bank 1,02,000

4.95.000 : 4.95.000
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Additional Information :

(13)

a)  Stock of medicine on 31/3/2019 Rs. 12,000

b)  Rent for the month of December 2018 was outstanding Rs.3.600
¢)  Electric charges Rs.3600 and School fees Rs.6,000 are paid by Mrs. Vinayak yet to be reimbursed.

36121/A210

d)  The following expenses are to be allocated in the ratio of 1:3 between profession and household.

Rent, Motor car expenses, Salaries and wages, Telephone charges and electric charges.

€)  The entire profit of profession should be taken as revenue of the household.

Il ITONT BT FENS SR&HECHTY, WBNATTIT. 8. 31/3/2019 Fe

8R30S =T §

08¢ TR dzg‘dcs méo'bag{ SO3RDL0.
05eD 3333 TPRE a3 B. 31/3/2019 éméme;%aoe’.

08¢

0000 00

233,083, INcd
Cileptverty 29,

BRONY Spooes
®,3NS Tp&F Boed W

aR.
3,000
90,000
1,50,000
2,40,000
12,000

SRS

WRH

BRpne oo
DB 3,
Ce0mes g,
AOWY TR BRAN
3653 QER TOBD

e ]

4.95.000

@3@ BORNRCTO%S
ABT TIFOD DN
T.V. &6ed

A

239, 0539_ INd

5&?6{3

$0b STk Wy FyF 309300 Bone TR FoWoHIT

a5,
36,000
1,50,000
12,000
6.000
36,000
21,600
30,000
15,000
30,000
36,000
20,400
1.02.000
4.95.000

P.T.O.
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11.

d) IR SRS evtin, en Torie SOSWFET 1:3 B[R, TR

o = 23 3 %3
e) VTR MDD 20T DO, TRYHI, 05 WIFH ST0TTWOTL TONEIRLICT
SECTION-D
QPN - B
Case Study: (Compulsory Question) (1x15=15)

e — o —d - ]
=300 950 (TN TZ)-

Pooja Colliery Ltd leased a land from Mr.Vijay at a royalty of 50 paise per ton of coal raised.

Minimum rent was Rs.48.000 per year. The coal raised in the first four years was as under.

Year Output in tons
2015 40,000
2016 1,00.000
2017 80,000
2018 1.20.000

Prepare Royalty chart and short working account under the following circumstances.
Situation 1: The short workings to be recovered during the first four years.
Situation 2 : The short workings to be recovered during next two years.

Give your comments on the treatment of short workings in the above situations.

e 2RO00 30.8. MWI| V0P DOLI[T IECWET FYTLD NESCLRY 1.TOFS )
FROT. TIEIR) Fé BN S0 FHO0E BT uaﬁmc@d. TR, RN T)é =
- —
)

&
dr. 48.000 FRTOST e, IRFNTE, IQTL TES TR 23 ISNT0ST.

3 G

4

£l
aib QL



A O (15) 36121/A210

DR wag}dﬁ(&ss%mfo)
2015 40,000
2016 ‘ 1.00,000
2017 80,000
2018 1.20,000

85 391 S8 RomIr v oows P, 020 B> 3e0F a3HER) Jatnomo.

ROTIF 1: Beties men Sarred coas: SRTZCIR) TR BRwes:.

NOTRIF 2 : B8 TR DA irada’o‘bag{ TOODT TR SRFNIY e TS BnEeds.
B ErTEabaty Soed8 AoByrnve Eerd oresxons,
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I Semester B.Com. Degree Examination, Nov./Dec. - 2019
Business Environment
(Regular and Repeater)

Time : 3 Hours Maximum Marks : 80
Instructions to Candidates:

1) Attempt all questions according to their internal choice.
$0BOT SONRATH) DR, FyFNEN LVFOR0.

2) Question No.-11. section D is compulsory.
B3 - 11 dyon @ FEoD.

SECTION - A
_ NN - &
1. Answer any ten of the following. - (10x2=20)
P B3 IIN9R evgoro.
a. What is micro - business environment?
RRT  B,@®HT HORTBOTOCRO?
b.  What is modern business?
BSTONT agswaadﬁocsdem?
¢c.  What is mixed economy?
08, BHFT TWA HOTTE?
d.  What is privatisation?
QORNEBTEISOTITERO?
e.  What is Small Scale Industry?
AL g MoOBNTOmTERD?

[P.T.O.
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f. Define economic policies.
BRFT S DOTTe 339,839, Q0.
g What is political business environment?
T2%3e00) B,[HIT TWORTHOTIeRd?
h.  Expand the following : (i) CRR (ii) SLR
33 TINIYNGTY, DFORD : (i) R.BT.ET. (i) 9 .QCF.ST.
i What is business ethics?
B,DBOTT §,88 Q0TTER0?
J- ‘State any two benefits of business ethics. ‘
=, [VBITT JETSCH IRPYTITTR  ATED CRINT), TeLD.
k. State any two benefits of technology.
O3, 2000 T QTR TouIneRy FHewd.
. What is technology?

808, 230T50033eR0?
SECTION - B
AR - W
Answer any three of the following. (3x5=15)

esor @R IIrern ev3oRd.
2.  Explain in brief any five features of modern business.
BHIT B, [H0T CIRPYTETR D msaoisarﬁe}s% ﬁoiez’jmﬂ RROAD.
‘3. Explain in brief any five benefits of liberalisation.
YVT0OETTEINECS0D CINEYTWIRTR 20T cm;mfmq NWORD.
4. Discuss in brief 6omp0nents of political environment.
Topsseody TORTE woBNYRY FoFeTmN IWORD.
5. Explain in brief any five favourable arguments of state intervention in business.
@BV, ATTTT BT R DT CARPTTTR 230 SRTNTRY FOFeTemon D[ORD.
6. Write note on impact of new technology on business.

=, WBOTT Boed 802, 25970 TOFBRI B0 E33¢d TD.
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SECTION - C
wogon - #
- Answer any two of the following. (2x15=30)

5ol QOB TInen wBdA.
7. Explain in detail macro business environmental factors.
APY T WHT0 TOATT LOBNTR), DWOAD.
8. Discuss in brief economic conditions of economic business environment.
SF T waamd ROROT esozijmfa‘% xoieamﬁ 23237 2D.
9. Discuss in detail various factors of socio-cultural environment.
WRREB DB AR, F FRHIC TORTS NG BOFARY DTN BeFAD.

10. Explain the arguments in favour and against social responsibility of business
organisation.

RREE RAEMOICH B TNe ARG WEAYRY DFORD.

SECTION - D _
g - &
Case Study (Compulsory question): (1x15=15)

B30 STODI : TEOD TZ

11. You are Proprietor of business organisation. Every business house should practice
business ethics and discharge social responsibility in this context you are asked to

Zow) WOTD emaodaod) BROFTINREO. R, [HITIY, %éﬁéoﬁo@i SRBATRFIBO 0B
AOWINIT TRTNOOTOII, ABF&ALIETNIBT. B3 ROTPFTY, T3

a) Make a list of business ethics.

B, BHVRY, TORT FETINT Ted, WRRO.
b) Make a list social responsibilities.

T, [HTRY, FOFND DYOCWAT FWRLT TRWMROSNY TS, SRRO.
c) Prepare list of benefit of business ethics.

SvIV=plelw 3,8BSNV0TRNON LRYNG T3, WRRO.
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Reg. No.

I Semester B.Com.3 Degree Examination, Nov./Dec. - 2019
Secretarial Practice
(Regular)

Time : 3 Hours ‘ Maximum Marks : 80
Instructions to Candidates: ‘

1) All sections compulsory.
2) Answer the questions with strict observance of internal choice.

SECTION - A
NN - &
1. Answer any ten of the following. (10x2=20)
NS s B TIMR vgoR. |

a.  Define prospectus.
ITTZO0T VCATTT  BOTINSOTTER?

b.  State any two rights of company secretary.
TOTD THORFWHFOD LT TR JRNII), 392D.

e. What is Resolution?
RRBVTY RNOTTEZ0?

d.  What is private company?
ORN FOTR DOTWTER0?

e. What is Articles of Association?
O3S a‘a.;émfo @oddea_a?

[P.T.O.
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f. What is preference shares?
T, TIT, BeTONGOTTER?

g Who is member of a company?
TOTICH RTF, 0BT 0IRT?

h.  What is Quorum?
ﬁasu; TOWTE DOTTERO?

1. State the limit on number of directorship.
Qe TFT Hoad oD W00, SRD.

J What are the stages of formation of a public limited company?
TR BT soazaom;* m@&:sw NP BOSNED CINT)?

k. What is foreign company?
DT FOT NOTWOE?

L. Who is alterna;e Director?
ROINFOD ABEFTT DOTT 03RTH?2

SECTION - B
RN - W
Answer any three of the following. (3x5=15)

NS Wems m:ao‘ﬁt eUZORD.

2. Who is Managing Director ? How he is appointed?
WARTT ATEFTT D0W0 IR ? SWI), Berd FeawRdTT?

3. What is private limited company ? State any four privileges of private company.
S39RN FOT DOWTERD ? 00AN TOTICD ez TIL), WZIODECVTY SPA0.
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10.

Explain the statutory Duties of company secretary.
FOZROD TIORFTEFOD mﬁauq;mw TOEW,NTID, DTOR.

Explain the difference between Memorandum of Association and Articles of
Association.

SR T, T DT FUWNY IEAT TR S9AD.

What are the methods of acquiring membership.
BOTICD AWR, BRI, WETH DTOBNTOR)?

SECTION - C
NNFn - ¥
Answer any two of the following. (2x15=30)

CInYTe SVR JINR G3T WTCWD.

Explain the different kinds of companies.
TOTROD DG T, TONTDY, WORD.

Who is Director of a company ? Explain the powers and duties of director of a
comparny.

FORNOD VTEFIT 0BT O3RN ? ABEFTTT aa’s% ToNR a’érasémfagl QWOA.

What is Annual General Meetings ? Explain the secretarial Duties relating to this
meetings.

TONFT ARFIOPIT B Q0TTED 2 B [LN FOWORAIT FOFTSF O ssrwsnva%
W:0A.

What is Memorandum of Association ? Explain the contents of Memorandum.

© FOTIOL TN TS, L0TTE ? BTT NG ﬁmmﬁe:a’% QWO

[P.T.O.
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11.

SECTION - D
TN - B

Case Study (Compulsory): (1x15=15)
T30 ©FoDI : sEOD T3

a)

b)

Mr. Anand is a Director of 21 Companies of which 11 are public limited
companies. Explain the consequences.

& 8308 [BAD 21 FOTICEY, QTEFTFTINT), BTTY, 11 30N FBrHs
FOTINTSY, WHRORT. 2®3 dPerF3 03, oﬁo ﬁaawdé Wi DTOR.

A listed company having paid up share capltal of Rs. 10 crores and it has
appointed a secretary who has passed intermediate of ICSI. Is it a valid
appointment ? Explain.

20T BREOTIOWS FOTAOI 3eTD WORTY TRToD 10 Freks %zdoéd B3 FOTOD
plovelanitay Q0T S0BT LTS BT FODFTEE F03 oi: TRSHI), Qo0
w@edess® (Intermediate of ICSI) B BrodT 330)333 SeVRCINT. 3
SeROFS 73 WHmTLFTERE ? TR

P.Q.R. Ltd in its Annual General meeting appointed all its directors by passing
one resolution. Is the appointment valid.

PQR. D008 30m0 Symoarcd mEng, Xeehd, 33 oo, dderdiosy o
20T RRFPOD BeeE SedEd [NRRT. B3 JeRTE JIRITTN 3 OWBTNEOD
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Reg. No.

I Semester B.Com. 3 Degree Examination, Nov./Dec. - 2019
ECONOMICS
(Regular and Repeater)
Business Economics - I

Paper- I
Time : 3 Hours : Maximum Marks : 80
Instructions to Candidates: ;
1. All Sections are compulsory.
DGR, QAN 53 0N,
2 All Sub-Sections should be solved continuously at one place.
DR, FyInene UVSTI), ABIToN woTe B3 wc?owa
3 Draw dlagrams wherever necessary.
(SNt ﬁé’o&n%@ﬁ 66333&5@?1@?3% WEBO.
SECTION-A
NN - &
I Answer any Ten of the following in 2-3 sentences each. (10x2=20)

NS Wemns w2 FInert 2-3 WDATNTY, LVIORD.
a)  Define Business Economics.

ofgsaﬁaad @qﬁ:—‘m@d@t 32,859, QR.
b)  State any two features of business economics.

=, R0 estsrm?v;cs ORI TED TR @isam#s% TeLD.
¢c)  What is Demand ?

R Q0TTeD 2
d)  Define income elasticity of demand.

Slaplove) ASTTTITRY, & 339, m
e) State the law of supply.

egfe)%ﬁ m:bwm%_ BeL0.
f)  Distinguish between supply and stock.

TP T DD Aon,zT IBONS DTVF SR

P.T.O.
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g)

h)

)

k)

Define less elastic supply.
FRIO %ém@wﬁa;d E’gp%ﬁo:b@t ENDRESDRV
Calculate average cost, when
) Total units produced = 100
i)  Total cost = Rs.2400
ATIRD aSzida’igl FENS LO3NLOT dﬁd =IREO.
D e GVIORT FENED = 100
M) 2. d&i= ar. 2400
What are the different names of LAC, currency ?
QEFFRY BTIRD %3, TeBNTOT DG TBITINFIR) ?
What is marginal cost ?
oS 3, POWTE 7
What is production function ?
NBTITTD WOWT Q0TI ?
What do you mean by implicit cost ?
SR 3, HOWTE ?
SECTION-B
NN - W

Answer any Three of the following.
FENIDNTE, Y TOTIR a‘o.rad@a GYUZDAD.

Explain the scope of Business Economics.

B, [0 SPFIOAET WQOD), TOAD.

Write a note on A C and M C with diagram.

Jeames3, Brolnt B0IR0 523, WY (wous [Ne 020 ETed WICD.
Calculate price elasticity of demand from the following data.

39N ©208-503NT ATODROT 2363 IR @m@wsa;;ss% FOROGHBOWD.
P, = Rs.10 Q, = 1000 units

P, = Rs.05 Q, = 1500 units

@) A

(3x5=15)
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10.

Explain the factors determining demand.
dc@%a‘bﬁ% QAF OO @oeﬁﬁ%’ﬁg{ QDWORD.
What are the modern factors of production ? Explain.
ST VT BUIED, AR ? FOKD.
SECTION-C
WY - ®

Answer any Two of the following. (2x15=30)
FENIDNTE, cdnPTTIR @da’>§ GVZORD.
Explain the different types of price elasticity of demand with diagrams.
WG 5etd ASMHTIEH AIF TFONYR), SewnedZndeonri D[ORD.
Discuss the law of variable proportions.
WROMOR ORI Doﬁsﬁodﬁ% WFR0.
Describe the law of supply with diagram.
ajp%a’ QORI Beauoeds, B0l wedF 0.
a)  Examine the following various concepts of costs.

FC, AFC, VC, AVC, AC and MC

FENT a’s’zgdd AT a’@ﬁqﬁﬂ@a’% E.:‘Oe{:f).

%56&;’3 RO9RO0 ATR, WBLS B3, TR0 WHBTMES 53, NOPAD 3, 0B

BT B3,
b)  Calculate : TFC, TVC, AFC, AVC, AC and MC from the following data.

FINS €03 73093571%3 pitseplosblAleln] 23, Rc»pddz';; WER), WTETRMI afzsd ptopyto) dzsd
RNTORD TR ﬁzsd X090 a"z?d BB wousy d?% @%ﬁ RNBO.

Units of output 0 1 2 3 s 5 6
eméﬁq D PLI/ND
Total cost (Rs.) 60 90 100 105 115 135 180
z;&o“ ﬁza;(dra.ﬁ%*e;)




36122/A220/23122 4) 0000 O At
SECTION-D :
RN - @

11.

Case let: (Compulsory Question)
8 DT, R[S,
@ )

Read the caselet and answer the questions below.

(1x15=15)

Citizen watch company has registered its sales during the last five years as under. A

Year 2014 2015 2016 2017 2018

Sales (in crores) 200 250 300 350 400

Questions:

a)  What is demand forecasting ? 2)
b)  Calculate the sales of citizen company for the next five years. (12)
c)  Should citizen company continue, its business in future. 1)

391t Eo83, ASOTRPS 1O INS BIROR 30RO,
RS T FOTIOW FFT T FIRFNY SHROD, TFNRY Ww0K B FINT0ST.

SR 2014 | 2015 | 2016 | 2017 | 2018
RRooL(BReE BR.NYY) 200 250 ~ | 300 350 400
T,ZN0:

a) WeRd BT 0TOB DOTTER - )

b) FO0WTOD VW JRFNTTTN ALIWD® FOTIOD BRTTI), BOTR WRED.
(12)

©) UWIHETQ AWK T TWHTHRY, WOOREEORITIT ? 1)
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Reg. No.

I Semester All U.G. Courses Degree Examination, Nov./Dec. - 2019

INDIAN CONSTITUTION
(Repeater and Regular)

Compulsory

Time : 9.00 a.m to 10.30 a.m (90 Minutes) Maximum Marks : 80
Instructions to Candidates: '

1)

@)

)

)

(5.

©)

7)

Check for complete printing of 80 questions.

The last page of the question paper may be used for rough work.

Each question has four Mul{z}n]e Choice Answer and choose the correct one.
Darken the appropriate circle with the' ball pen.

Damaging/overwriting using whitener on the OMR Sheets are strictly prohibited.

No candidates will be allowed to leave the Examination Hall till the end of the
session and without handing over his/her Answer Sheet fo the Invigilator.

Candidates should ensure that the Invigilator has verified all the entries and that
the Invigilator has affixed his/her signature in the space provided on the OMR
Sheet.

[P.T.O.
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1.  Theemergency provisions of Indian Constitution were borrowed from.

(A) Russia ; B) US.A.

(C) Germany (D) Canada

20F wd%éaq‘b SRTONTI, SRS TeIT FOLTIRR0T eﬁoja%ira%@aﬁd
(A) o= (B) 00w

(C) =RFR D) F3@e

2.  Parliamentary Democracy as has been envisaged ililphes:
(A) Representation of the people
(B) Responsible Government
(C) Accountability towards the legislature
(D) Separation of Executive from Legislature

»

Identify by following code

(A) A.B,CTrue (B) A,C,DTrue

(C) A,B,DTrue (D) B,C,D True

AoRDEOD T, 2T LB FIND CIRBTY WENRORT.

(A) mIEod 3, 8T, (B) =230 ATTT

(©) axmoﬁ@a %WLRO (D) TOITOONR) T2OITE ONEOT zjea‘r%d):?_fd.
FINT BOBEBNYOD MOSFA.

(A) A,B,C=d B) A,C,D=0d '

(C) A,B,D=d (D) B,C,D=d

3. Thefollowingarticles protect the rights of the minorities in India.

(A) Article-23 and 24 (B) Article-25and 28

(C) Article-29 and 30 (D) Article-32

FINS 3R DQNEL LTST R0, 3T &ToTENIR), TEFT ARNTIN.
(A) 23D 24Te PN B) 25 a02) 283 AONY

©) 29353 308 AGAEL O 32808
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4.  Recently government of India has abrogated article 370 and 35 (A) for which state these articles relates

or belongs.

(A) Jammuand Kashmir (B) Hyderabad and Karnataka

(C) ‘Telangana ‘ (D) Panjab :
‘aéez&j 3e0T, FTIF Uy RONTORE 370 Torwe 35 (A) DENTI, T, DRAB. B3 NS o3
cmr,?sé‘5 TOWODRS.

(A) = TB 3T (B) T,m,WT T T/ 3T

(C) 3Boomoed _ D) Zowow

5.  Oneofthe following is an example of a flexible constitution.

(A) USA (B) Swiss

(C) British " (D) Austulian

oS (8=) xo@m5§ LVTTIDVHBOING FODTIS VTINT.

(A) 0605 (B) A FRO W, 0E
©) B8R (D) s%e@om

6.  Which one of the following amendment reduced the voting age from 21 yearto 18 years ?

(A) 52nd Amendment (B) 60th Amendment
(C) 61stAmendment (D) None ofthese
3R éd%ﬁ@aba BT doﬂaﬁﬁ%Zl oow 18 %‘a@h‘mﬂd.
(A) 523¢ Bd?za:‘@ B) 603¢ SIE
(© 613 =R D) IR B,

7.  Rightto property has been granted by one of the following Articles of the Constitution, which one is it?

(A) 299 (A)Article (B) 300(A)Article
(C) 301 (A)Article (D) 302 (A)Article
OIS AQOID &3 TER) TRRRO WE BFOW SRT,RRAT.

(A) 299 (A) Se O (B) 300 (A) S 2O
(C) 301 (A) S D) 302 (A)Se G

[P.T.O.
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8.  The 52nd Amendment Act deals with

(A) Anti-Corruption Law (B) Anti-Defection Law

(C) Neither (A)nor(B) (D) Both(A)&(B)

52 Se écs%e—-’a@ O3RRTT B0 TEHTT.

(&) PTR0 DERET F20I, (B) Ws0=T eRED wﬁa@
(C) (A)=z= (B) 30 D) (A) == (B) OB RO

9.  Theterm of Rajyashabha is

(A) 4years (B) . Syears
(C) 6years (D) Permanent
cazsﬁrsdoja ©0T0 BWHCI0 ,

(A) 43=F _ B) S=RF
(C) 6=F D) aco

10. The Joint sittings of the two houses of the parliament is presided by

(A) The Speaker (B) The Vice President
(C) ThePresident (D) The Prime Minister
23083 LRRESIT eqsdia’-waommm.

(A) RIS (B) oUBOIHTHS

©) oomms - D) B, =08,

11. When does the President of India is empowered to promulgate ordinances ?
(A) The Lok-Sabhaisnotin Session (B) The Rajya Sabha isnot in session
(C) The Parliament is not in session (D) None of the above
YT Do PN C8TEIRN AN, IO, FRORFITIT ?
(A) Sres 3ot SRBEBITY adwon: (B) T Ao ©RHeIITY AVITIN
©) #oRd eOBEIOLOmA (D) R o v,




L T - 10941/A980/10911/i0901

12

13.

14.

Who certifies that a particular bill is money bill ?

(A) The President of India (B) The Speakerof the Lok-Sabha
(C) The Finance minister : : (D) None of the above

odnsy3e mmdoimgl DEITOAT SOARTOI0R AT FORIBTT 033D 2

(A) pTeE m‘aﬁa (B) cnegagiod AETT

(C) =m0, (D) FedT TR ey

Emergency Provisions have been incorporated in the following articles.

(A) Article- 131,132 & 133 : (B) Article- 153, 154 & 155

(C) Article-170,370A,370B (D) Article-352,356 & 360
BoB0F TR CI0RY FREXARIT QRN CIRBF) ?

(A) 131, 132 0= 133 Fe Apnsh (B) 153,154 5020 155 Se QN
(C) 170,370A =523 370B Se QPN D) 352,356 0= 360 ¢ LN
Article 368 deals with

(A) Special status to the state of Jammu & Kashmir
(BR  Legislative Councils in certain states.

(C) Method of amendment of the Indian Constitution
(D) None ofthese

[P.T.O.
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15:

16.

gi7e

18.

Which of the following schedules relate to the division of subjects between the union and the states ?

(A) Schedule-III (B) Schedule-IV

(€) Schedule- VII (D) Schedule - XII

BINT oI WRORBLCHD 360T, ToTtR Toz,THE TR, T SHTT Towss RO $9FIT.
(A) =088 -1 (B) eDRRB-IV

(C) e0o=ws- VII D) RS- XII

District Judges are appointed by whom ?

(A) ThePresident _ (B) The Governor

(C) The ChiefMinister (D) The Deputy Commissioner
2367, 79, C3RREBTR), CART FeadT WRETT ?

(A) casu;m'é (B) oausmoda

(C) =0aD),z008, ovblolal D) WROTO

Which Union Territory hasa High Court ofiits own ?

(A) Pandicherry (B) Chandigath

(C) Dehhi ' : (D) Lakshadweep

03753 30T, RIS BT3B ST BT TR TROVT. '
(A) To&3eO B) BoBN®E

C) TS D) ©3Res

Which one of the following is incorrect ?

(A) The Vice-President should be a citizen of India

(B) The Vice-President should have completed 35 years of age.
(C) He should have qualifications of member of Lok-Sabha.
(D) He should have the support of the majority party.

FINT CINRPYTO TePTOIN ST Na.

(&) UBOIFTHICHO GRUIT FOTTNTLIER.

B) USR03 35 30T, HODIRY BROOTLI.

(C) &R SREFILI0 WA, TN QTR BBFSO) BROQTLIEE.
D) ©= WBRRDE JEB TTH 3o VBOTWE.
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19.

20.

21.

22.

Who among the following occupied the office of the president for two terms ?

(A) Dr.S. Radhakrishna (B) Dr. Rajendra Prasad

(C) DrZakir Hussain - (D) Dr.S.D.Sharma

3 FINTNTA, 03RTL ATED 230D OIS BOTIODTY, BOOTORTHT BNTT.
(A) wo. oac_m-u;?gg (B) UoxeoT, T

(C) woscomFERT (D) @».S.D.3RnF

By whose advice are the ministers in the state appointed by the Governor ?
(A) The Prime Minister

(B) The ChiefMinister

(C) The Speaker of the State Legislative Assembly

(D) The President .

CIRT FOEOD 60T Tty TOW 3208, RFR), FesT BREBIT.

A) Tmos =08, B) [0,

(C) Doz, ApeIREiod Femms (D) caa&wé

In whose name are the executive powers of the state exercised ?

(A) The Chief Minister (B) Governor

(C) Vidhan Sabha (D) Vidhan Parishath
09, T3 T0IRF0NCED BHTONW BT SFOTY, BERTBOIRRITS.
(A) =0, (B) ToxEo
(C) Qo= D) PITORS

The Chairman and members of the joint public service commission are appointment by the

(A) The Chief Minister (B) Governor

(C) ThePresident (D) Vide-President
%083 EReTAD Bo3Rens @;ﬁﬁi_i ), SEQOROTIT cdrTd.

(A) :mabéwoog (B) Tot3, S00TO
(C©) Tosid ‘ : D) evBCOHFS

[P.T.O.
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23.

24.

25.

26.

Who among the following was the first Deputy Prime Minister of India ?

(A) Murarji Desai (B) Y.B.Chavan

(C) L.K.Advani (D) Vallabai Patel

83 BN o 3,300 Po08R BRTO YUTH, P =008,033N T2 ?0539‘602)'@@6.
(A) FRUF TETCW (B) Y.B. w5060

(C) wwy £3 D) [0 Tedew

The bill [Legislative] means

(A) A draftlegislative proposal (B) A draftexecutive order

(C) Adraftordinance (D) Adrafttreaty

(SRFONTY) BOBRT QOTTER ?

(A) ToRTONG TOWO [, TR (B) To03RFONG FORD TR
(®) m@mgw OO (D) 2TWOTT FOE

Who was the Chairman of Drafting Committee ?

(A) Dr.B.R.Ambedkar (B) Jawaharlal Nehru
(C) Sardar Vallabhabhai (D) K.M.Munshi
BTV FOEO A0S0 WF,TTO 03530 ?

(A) V.80 LorkerET® (B) HDOROR® ST
(C) Rooor 3 B TEdeL (D) KM.x303%

How many types of citizenship granted to citizens of India ?

(A) Single Citizenship (B) Double Citizenship
(C) Triple Citizenship (D) None ofthese
2700803007 D LIACIH :396335 NETINT.

(A) DT TNOTS B) QEemoss

(C) &9 ~ondess D) CBRJYTE B,
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27.

28.

29,

30.

by which amendment right to property dismissed ?

(A) 42nd (B) 43rd

(C) 44th (D) 55th
AONTINT O STITEOL ST S BEI), CTRAGING.
(A) 423¢ TR B) 43 3¢ STIB
(C) 443¢ STR D) 553 TR
What deals with Article 51 (A)

(A) Rights (B) Duties

(C) RightofReligion (D) Rightto Property
51 3¢ (A) QPO DI, PR3

(A) as%ﬁ@a (B) ﬁéra‘)?smb
(C) TFT 55’533 D) s&F3 aa’ﬁal5

Abolition of titles by this article

(A) Article-19 (B) Article-18
(C) Atticle-14 (D) Article-20
WITBINERY, TR BRET AY AN,

A) 193¢ D B) 18Jed
(C) 143 2p D) 20 JeQ

Which article tells about uniform civil code ? ,
(A) Article-40 (B) Article-44

(C) Article-42 (D) Article-43
DTARTT TMOT F0LICITY, BV HEF FODTITE A AWNT.
(A) 40 Se 0 B) 44320
(©) 423Fe (D) 43 Je

[P.T.O.
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31. Who will appoint Judges of Supreme Court ?

(A) ThePresident ~ (B) ThePrime Minister
(C) The ChiefMinister (D) None of'these
Re3pert3; T9,00RO0NT T, CINRETTI), CXRT eRT BREOTT.
(A) TOFBEMD B) TS W0,N
(C) =02 =oognsd (D) 0IR Be),

32. Which type of government implementin India ?

(A) The Presidential type (B) Parliamentary type
(C) Dictatorship (D) Monarchy
LRUBTE, CORD WRTO ATF TRT.

(A) e;ez,ja,ieod: WRTO (B) =omdecdd [RTO
(C) ATFHTD RIPWO (D) 0%, yhE SR

33. Residency powers belong to

(A) Union Government (B) Local Government

(C) State Government (D) None ofthese
SezDOTIONED c3RON AedS ?

(A) FeoWT AFFT B) h;@eob RTF0

(C) O, ATFT D) FoeOS oINPT &),

34. Who has the power to proclaim emergency ?

(A) TheParliament (B) The Council of Ministers
(C) ThePrime Ministers (D) The President

BOB0F TWORSOIT), FREAROR BOTIT YWONT.

(A) n’ozjca‘é (B) 008,z00B

©) @')ms W00E, (D) oaa;aaﬁ#o
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35.

36.

37.

38.

Which article prohibited slaughter of cow ?

(A) Article-48 (B) Article-350
(C) Article-356 (D) Article-79
gicleetch a;-;eassi TS BONTRE VY [WINT.

(A) 48 e 2D B) 350 e O
(C) 356 Je QD : D) 79 e dp

Who is the Speaker of Lok-Sabha ? :
(A) OmBirla (B) Sumitra Mahajan

(C) Smt. Meira Kumar (D) Venkaiah Naidu
T8 BresRrion MPHS IR0 9

(A) 20 oF B) =T, BoTORI
(C) 56308 Q60 BRRT D) oo, T3

How many subjects are enumerted in Central List (Union LIst)

A) 100 B) 66
(C) 61 D) 55
ge0m, eSO BT ARCINATR 7

(A) 100 B) 66
(C) 6l D) 55

Under which article joint session of parliament will be called ?

(A) Article- 108 (B) Article-120
(C) Article- 100 (D) Article-150
RO 03RS LRI &, 0 %0k3 e.-s@sﬁwa‘wsgi 30030823.
(A) 108 Se 2O (B) 120 ¢ 25
(C) 100 Se D) 150 Je 25

[P.T.O.
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39.

40.

41.

42.

Who is the Chairman of Rajya Sabha ?

(A) Vice President : (B) The President
(C) Prime Minister (D) Chief Minister
Doz B30 AIwS CIRTINTOTIT ?

(A) emwoa‘%w-‘é (B) oaaia@

(C) T,pos=R008, (D) |ooad,008,

What is the number of elected members of Lok Sabha.

(A) 545 (B) 543
(C) 544 , (D) 560
dpesEziod 0TS FTA,T 730&35.

(A) 545 (B) 543
(C) 544 (D) 560

Which house of parliament is subject to dissolution ?

(A) RajyaSabha (‘B) Loka Sabha
(C) Two house of Parliament " (D) Noneofthese
RO 0300 ATT) DRWESN WIDREOZS ? -

(A) oazs?smj (B) &resayd

(C) RORET HTEO IBINL (D) R B

Who is the head of real executive ?

(A) Law Minister (B) Home Minister
(C) Prime Minister (D) Speaker

% T, ONT 53339357\;;&3 0358 ?

(A) ToRRS W0E, (B) nym® =08,

ARV

2L

C) [,5ox =008, (D)
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43. By which article amendment will be made to the constituion ?

(A) Article-356 (B) Article-368

(C) Article-310 (D) Article-315 5
TOTOIT 0378 VRO W a’oé’b@6§ STBRNIS), BRBWBOTING ?
(A) 356 S 20 (B) 368 Se 2B

(©) 3102 D) 315320

44. Who is the present Chief Election Commissionar of India ?

(A) B.C.Danova (B) SunilArora

(C) Rajukumar (D) Karmbeer Shing .
RS WOTIRET HOIRENT @qiéidalma%?\éda 03533 ?

(A) B.C. ©3nreox® B) ROV’ ©8Red
(C) Toxm=RT (D) BTOWET AOTY

45. 'Which Prime Minister's birthday was celebrated as children's day ?

" (A) Lal Bahadur Shastri (B) IndiraGandhi
(C) RajivGandhi (D) Jawaharlal Nehru
W05¢ QDLETEO0ONY, LTRTBE ORI T, 5o B0, 030 Y DTLETEROD DS SIOISMIBH?
(A) * wa@z:i%c‘ oA, (B) =B0Q00 Neod
(C) ToRem MoY (D) RHOBOTL® JeHBTO

46. Who has the power of pardon ?

(A) Prime Minister (B) ChiefMinister
(C) Law Minister (D) The President
TRRTT BRED BHTITBI), ARV BRODTOZT ?

(A) Typos 0é, B) B0, 08,
(C) TRRT W0S, (D) caaeajé

[P.T.O.




A 0 00O 0

47.

48.

49.

50.

(14)

What is the term of members of Rajya Sabha ?

(A) 4years
(C) 6years
T3, Ao AT, T BRFIT &mHOI
(A) 43zF
(©C) 6z=AF

Fundamental rights are

(A) Justiciable

(C) Legal

RIS ss%mfo DTN,
(A) T,0D 033

©C) e wa;p

Who is the leader of Majority in Loksabha ?
(A) Speaker
(C) Defence Minister

(B)
D)

B)
D)

B)
(D)

B)
D)

(B)
D)

10941/A980/10911/10901

3 years

5 years
3 I=E

5 [RE

Non-Justiciable
Moral

9,00 U330,

ok

Prime Minister
Finance Minister

FResRLIodd WBRIRS TEG WBT TOT RWTINTOST.

(A) =peIensd
(C) T =odnwh

The subjects of national importance are with
(A) Parliament
(©) Statg: Government

cma%eoi) magz BT ARODNED VEAS.

(A) =03
(C) ooz XTFT

B)
D)

(B)
D)

B)
D)

T, O 3008, Msh
TEITIAT 08, N%d

Election Commission

Central Government

Wodo=Ese Lodnen
3e0%, ATTT




OO O R O (25)

S1.

52.

S3.

54.

How many members are nominated to Rajya Sabha

(A) 23
(C) 12

Ooz3, RN mmscsamgw AT T :50335 ;

(A) 23
(@) 12

Who presides joint session of parliament ?

(A) Lok Sabha Speaker
(C) Vice-President

(B)
(D)

(B)
(D)

(B)
(D)

WOL3 BRBIIE e;sqﬁéié’odmaq CIRTO F&AOZVT ?

(A) SreRyodb FepDs

(©) wwmgm

(B)
(D)

10941/A980/10911/10901

24

24

President

Prime Minister

What is the minimum age for the qualification of President ?

(A) 35 (B) 40

(©) 30 (D) 25

T FHSO3RMED 533 TOF, DT, SODRTF[oINTLIER 2

(A) 35 (B) 40

(©) 30 (D) 25
Indiasisisemnig s state.

(A) Sovergin (B) Socialism
(C) Secular (D) All the above
QIOTSR) WOT —=—— === Uaai.

(A) =OJFgPRD (B) A=nzmed
(©) qﬁaﬁradﬁei (D) eI )z

[P.T.O.

I!
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55. The final interpreter of the Indian Constitution

(A) President (B) Parliament

(C) State (D) Supreme Court
2IITST FODTIIHR), T TR B0ST BHTITH)

(A) epED) C,Sa,i 9 (B) =om=

(C) Tom,msd (D) k‘ﬁ\pes—‘% 9, 03ROOD

56. Who administrators oath to the President of India ?
(A) Governor
(B) Prime Minister
(C) Chief Justice of Supreme Court
(D) High Commissioner
Uaﬁ; DENIN T, [N ?)?33&59{ WReHRORDT.
(A) 0o TROW '
(B) &,50 :0g,NEd _
©) x@aer% 9, C3ROOIT BN, T, BRI
(D) a;;‘j FORZO®

57. Whoisresponsible to Lokasabha in Parliamentary democracy ?
(A) President
(B) Council of Ministers headed by Prime Minister
(C) ChiefMinister ‘

(D) Governor

HoRBeoD 3,255, yBHO, GResRYT 0XIRTD &RLRTTO BMOSRT ?

(A) @C-sti D , B) T,po0 J0E, ﬂ@éxgﬁﬁmozz T008,:03Y
(C) =20D,z00¢8, ngo (D) TIRFTOTO
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58. Number of schedules in Indian Constitution

A) 12 B) 9
@5 21 D) 08
P03 FONTOST T waziedrw 730&55.

A) 12 B) 9
(C) 21 (D) 08

59.  The Chief sources of political power in India is

(A) Thepeople (B) Parliament

(C) The President (D)  The Constitution
WOTSTES Tozsdecdd BQTITE e $S300.

A) =33 (B) =oxed

(©) oaa;aé (D) =0T

60. Finance bill in which house first has to introduce

(A) RajyaSabha (B) Lok Sabha

(C) Loka Sabhaand Rajya Sabha (D) None ofthese
BEATAT SOARTODT) BB cdRE ITITE, SooazLed.

(A) caz:urdaj B) nesmed

(©C) &res/ T2, A3 (D) oeds cdnymn sy

61. Minister must to be member of
(A) RajyaSabha (B) Loka Sabha
(C) Parliament (D) Noneofabove

W08, 1ish Ftzn 0N BT BT, TaNTLSeso.

(A) oo ' B) dnese
(C) =om=d (D) H0eds cdnRme se)

[P.T.O.
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62.

63.

64.

10941/A980/10911/10901

How many times a bill is to be discussed before it becomes a law ?

(A) S B 3

€ 4 D) 2
SORRTOIROT TTRTIN 2307 LTWETITT D), W00 WIFALIER ?
A) 3 . ®B) 3 '

) 4 ' D) 2

Who is the first woman President of India ?

(A) SuchetaKriplani

(B) Indira Gandhi

(C) Vijayalakshmi Pandit

(D)~ Pratibha Devi Singh Patil

2T003E BRATBO 0D oaauaa‘érie:o 03530 2
(A) Roeez0 IO ‘

B) @oRTIMOY

(©) DS ¢ 3ol ic)

D) T,&% TR0 T

According to which article Attorney General will be appointed ?
(A) 74 @) 75
(©) 76 D) 77
LR WO TOR), BeRIRRPRIT OB

Aa) 74 ® 75
©) 76 | @) T2
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65. Match the following list Ist with list IInd by choosing the correct code.

List-I List-IT
(A) Article-41 ' 1)  Protection of Forest
(B)  Article-44 2) Right to work
(C) Article-47 3)  Uniform Civil Code
(D) Article-48 (A) 4)  Prohibition of toxic thing
Code
A B ¢ P
(A2 3. 4 N
® 2 3 1
©u3s 2 1 4
M) 4 "1 Loiee
3 S9N gt -1 3 1T S eéndii Bockmn Eeon,
List-I | List-II
(A) 413ep 1) O, elh
B) 44 Je o 2) wcﬁmﬁmcﬁ =)
(C) 47320 3)  QTTRIIINOT T0&k3
D) 48(A)Fead 4) T T[T0Z LR BERGE RS
RoTE3NeD
A B € D
(A): 2 3 AT
@ 2 3 1
(€) .3+ 20Sqi .
@ 4 e 3

[P.T.O.
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66.  Which one of the following article deals with the appointment of High Court Judge ?

(A) Article-214 (B) Article-217

(©) Article-226 D) Article-216

CIRT DHOIN T BRI 9, CIRQETT Fe0TTs wrj $9ROBT.

(A) 21438 B) 2173

(C) 226 Je B D) 216 3¢5
67. The Vice-President is the Ex-Officio Chairman of the

(A) RajyaSabha (B) Lok Sabha

(C) - Planning Commission (D) None ofthese

zgads’;d em?u’oaa;wém ————————— (I3 QN Eﬁ%i@f\ﬁ%ﬁ.

(A) epte) %3 B) eyl

(C) odnexme so3nen ’ (D) c:m@m 58
68. Which Union Territory send their members of the Council of States ?

(A) Diué& Daman ) (B) Dadra & Nagar Haveli

(C) Andaman & Nichobar (D) Deheli & Pandicheri

SN odnss Seotm, BYE B Beanivh T, Fui 3 BEE, o), 39K 2

(A) D30 T B B) wows, BB INT BFed

(C) ©OBRPI TR ACBRWIT (D) B9 Do) moRed
69. Inwhich article of the constitution of India ha§ the joint sitting of the Lok Sabha and Rajya Sabha ?

(A) Article-101 (B) Article-108

(C) Article-133 (D) Article-102

~ CInE QRN GresE E08) epL R thlov ok ol X @@ﬁesswmq FOODSMOB 2
A) W10l (B) 25108
(©) 25133 D) 28102
T ——— e —————— B
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70.

.,

72.

73.

The National Commission for schedule caste was established under of Indian
Constitution.

(A) Article-338 (B) Article-250

(C) Aurticle-180 (D) Article- 142

caa&eojo wbéa; TONGE SO3RENY TODTIT o3 ci)@Oi)ajodJ dzsmmmgd ?

A) 29338 B) &G 250

(©C) 8180 D) 2142

By which procedure the President of India may be removed before the expire of the term

(A) by the Supreme Court (B) Impeachment

(C) by the Vice President (D) None ofthese

W03 ma’éméojasi CIRE DT BT TOR TPBFTYE ©OTITOOT IRED TIRWBIDD.
(A) =), coBpeErT B) =vzWodeen

(©) maicaagwéomow D) R B

Who is the Supreme Commander of the Armed Forces in India ?

(A) The Prime Minister (B) Minister of Defence

(C) ThePresident of India (D) The Commanderin Chief
BT TENT BRTITORTICITI 0dRT) 9

(A) T8 &og, (B) di 590 308,

© oaaga:‘é D) BTToBZCITT

Which writ issued by a High Court or the Supreme Court to compel an authority to perform a function
that it was not performing ?

(A) Writof Certiorari (B) Hebeas Corpus
(C) Mandamus (D) Quo Warranto

AL, 0BRELF B T EZREEFTIEH 03N 08 Bopez ) BHT00DT), o ABF LT
TOCDF IR, ATF E&AT0S SLPRAIE.

(A) =2Fodeedo Des® B) TR IS
(©) = omx (D) 3Bee moTosR
[P.T.O.
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74.

05

76.

77.

 First women J udge to be appointed to Supreme Court was

(A) RaniJethmalani (B) AnnaMalhotra
(C) FathimaBeevi (D) LailaSeth
R0 0 BRetSFT Sexdsrinos Ty TR W& 9, CdRRETTO 033wTd 9
(A) oogd dc&g@aa (B) Sl md@o €3,
(©) =&a» Ve D) G es

Who is the Chief Law Officer of India ?

(A) Solicitor General (B) Attomey General
(C)  Secretary Law Department (D) Advocate General
AplercTet e&da‘ga’ OO BOTOIRNT) 9
(A) O30 mJITSF , (B) &30 wIT*
O D[ VR DTS (D) wd@sieés frratelad

Who has the authority to approve President Rule in the State ?

(A) Parliament (B) Lok Sabha

(C) State Legislature (D) Council of State
B3 YN odor ToRTS e%éocbﬁgl BRT; BRET SO0,

(A) =ox B) doesxed

©) osme | D) D53 Tom)

In the Union Govt. the council of Minister is collectively responsible to the

(A) President (B)  Prime Minister

(C) Lok Sabha (D) RajyaSabha

36033, 2008, BOOBO) TRUETIN s FINT R0 &I OCRNTOZT.
(A) OB B) TR0,

(C) Snresmyd (D) eplo WA
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78.

79.

80.

Who decides allotment of symbols to political parties ?

(A) Political Party Leader (B) Prime Minister
(C) Election Commission (D) High Court
03301 DREsdeod STiert bRy RerTT 2

(A) Oomdead wg T 3¢ (B) Tpos008,
(C) WIoxmmo sodnen D) FEeewss

Total No. of schedule in constitution of India is

@A) 2 ®) 17
©) 97 @) 12
T3 FOQTRTY BT SORRING A0,

@A) 22 ®) 17
©) 97 ' o 12

In india when both offices of President and Vice President happéﬂ to be vacant simulteneously who will
discharge the duties of the President.

(A) Prime Minister (B) Home Minister
(C) Speaker of Lok Sabha (D) Chief Justice of India

O TOF TOFTS 02 SUTOIEFTE BT a2 TR DIFS TOT 0D TOMmELCIIN C35Td
AR &RITT.

(A) TooI=008, B) 7nTTWID
(C) Snresaed ez (D) x@er%@mwwdmmﬁ%wma




